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b) i) What is tuple in python ? How does it differ from list ? (8)

1) Write a python program to sort n numbers using mergesort, (8)

16. a) 1) What are exceptions ? Explain the method to handle them with example. (8)
i1} Write a python program to count the numbel of words in a
| GOOR) i o it s |
b) 1) ‘How to Merge multlple flles in to a new flle usmg python '_ - (6)

11) What ale rnodules in python ? How wﬂl you nnpmt them ? Explam the
_ eoncept by creatmg and 1mp01tmga module T (10)
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| .. Answer ALL questions. |
PART - A (10%2=20 Marks)

How will you analyse the efficiency of an algorithm ?

.. What is the use of Algorithm, Flowchart and Pseudo code in the perspective of

problem solving ?

Compare interpreter and compiler, What type of translator is used for
Python ?

Write a python program to print sum of cubes of the values of n vériables.
Do Loop statements have else clause ? When will it be executed ?

Write a program to display a set of strinés using range() function.

How will you update list items ? Give one example,

Can functions return tuples ? If yes give example

.+ How to use command line arguments in python ?

. ‘Write methods to rename and delete files.
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PART - B (6x16=80 Marks) -, - | ) i1) Evaluate the following expressions in python. (6)
. ° | i - i) 24//6%3 |
11. a) i) Whatis a Programming Language ? What are its types ? Explain them in R | i) float(4+int(2.39)%2)
detail with their advantages and disadvantages. ® : iif) 2#*gEHg

i1) Write a function find_index(), which returns the index of a number in the

Fibonacei sequence, if the number is an element of this sequence 13. a) i) If you are given three sticks, you may or may not be able to arrange them in

a triangle. For example, if one of the sticks is 12 inches long and the other

and 1:eturns-1 if the number 113 not contalned in it, call this function using E two are one inch long, you will not be able to get the short sticks to meet in
user input and display the le.s‘_ﬂt S (8) e : the middle. For any three lengths, there is a simple test to see if it is possible
: I N to form a triangle: If any of the three lengths is greater than the sum of the
OR) - e -other two, then you cannot f01m a trlangle Otherw1se you can. -
b) 1) What is recursive function ? What are its advantages and dlsadvantages ? AT '1) erte a function named is — trlangle that takes three mtegers as

Compaxe it w1th iterative function. . : 6) o _‘arguments, and that prints either “Yes” or “No”, dependlng on whether

i1) Implement a recursive functmn in Python for the sieve of Eratosthenes. The
sieve of Eratosthenes is a simple algorithm for finding all prime numbers up

"':__i'i')_._-'_--:erte a functlon that prompts the user: to 1nput three stlck lengths, -
- converts them to integers, and uses is trxangle to check whether stlcks

to a epecified integer. It was created by the ancient Greek mathematician [T, th th l th P t 1 _ )

- Eratosthenes. The algorithm to find all the prime numbers less than or : g RETHCEE wi | © glven enghs can form a riangle, - HEREETE - - B
'equal to a given integer n: (10) o o : 11) erte a python program to generate all permutatlons of a given strmg

L “using built-in function. (8)

1) Create a list of integers from twoton: 2, 8, 4,....,n

2) Start with a counter i set to 2, i.e. the first prime number. (OR)
3) Starting from i+ i, count up by i and remove those numbers from the :_' N b) i) Compale lists and array with example. Can list be considered as an
}.iSt, 1.e. 2*i, 3*1, 4*i,... S array ? JU.Stlfy (6)
4) Find the first number of the list following i. This is the next prime | : ._: . ii) Write a python function are Anagram1 () to check whether two strings are
number. N anagram of each other or not with built-in string function and are Anagram2() to
, _ _ w0 check the anagram without using built-in string function. (10)
5) Set 1 to the number found in the previous step. 7 ¢ ( Dl ' :

6) Repeat steps 3 and 4 until i is greater than n. (As an improvement: It's 14. a) 1) Define Dictionary in Python. Do the following operations on dictionaries. (10)

enough to go to the square root of n) i) Initialize two dictionaries with key and value pairs.

i1) Compare the two dictionaries with master key list and print missing
: o keys. '
12. a) 1) Write a python program to rotate a list by right n times with and without ' _ o . -
slicing technique. | (4+4) iil) Find keys that are in first and not in second dictionary.

7) All the numbers, which ave still in the list, are prime numbers.

il) Discuss about keyword arguments and default arguments in python 1v) Tind same keys in two dictionaries,

with example. (4+4) v) Merge two dictionaries and create a new dictionary asing a single
: expression. '
(OR) o o . o
. . : i) What is list comprehension in python ? Explain with example. (6)
b) 1) Write a python program print the maximum among ‘n’ randomly ' (OR) ' |

generate ‘d’ numbers by storing them in a list. (10)

e ‘you can or cannot form a t11ang1e from stlcks with the glven lengths @



